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QUESTION 1

Please read this scenario prior to answering the question. 

You are serving as the Lead Architect for an Enterprise Architecture project team within a multinational oil and gas
corporation. It is organized into two major business groupings: Upstream operations which include exploration for crude
oil and natural gas and operating the infrastructure necessary to deliver oil and gas to the market Downstream
operations which include the manufacturing, distribution and marketing activities for oil products and chemicals. Safety
is a priority for the company, with the aim to ensure it causes zero harm to people and the environment. The company
has to satisfy the regulatory requirements of each of the countries it operates in. 

The downstream business generates a third of the company\\'s profits worldwide and includes more than 30,000 petrol
stations and various oil refineries. In some countries it also includes oil refining, a retail petrol station network, lubricans
manufacture and marketing, industrial fuel and lubricans sales. The practice for the downstream business has been to
operate locally, managed by local “operating companies”. 

The Governing Board is concerned about the risk posed by operating in this complex global environment with a large
part of the downstrean business represented by local operating companies. As a result, the Chief Executive Officer
(CEO) has appoimted a Chief Compliance Officer (CCO) to be responsible for overseeing and managing compliance
issues to the corporation. The CCO reports directly to the CEO. 

The CCO has approved the expenditure of resources to establish an Enterprise Architecture program, and has
mandated the use of the TOGAF standard as the framework. He has requested to be 

Refer to the Scenario 

You have been asked to recommend an approach that would enable the development of an architecture that addresses
the needs of the Chief Compliance Officer, legal staff, auditors and the local operating companies. 

Based on the TOGAF Standard, Version 9.2, which of the following is the best answer? 

A. You recommend that an analysis of the stakeholders is undertaken, including development of a Stakeholder Map.
This will allow the architects to define groups of stakeholders who have common concerns. The concerns and relevant
viewpoints should then be defined for each group of stakeholders, and recorded in the Architecture Vision document. 

B. You recommend that the ArchiMate modeling language is used to create a set of models that can be applied
uniformly across all architecture projects. Each architecture should then be defined based on this fixed set of models. All
concerned parties can then examine the models to ensure that their needs have been addressed. 

C. You recommend that a set of models be created for each project architecture that can be used to ensure that the
system will be compliant with the local regulations. A formal review should be held with the stakeholders to verify that
their concerns have been properly addressed by the models. 

D. You recommend that a Communications Plan be created to address the powerful and influential stakeholders. This
plan should include a report that summarizes the key features of the architecture with respect to each location and
reflect the stakeholders’ requirements. You will check with each stakeholder that their concerns are being addressed. 

Correct Answer: B 

 

QUESTION 2

MightyGears produces components for the Car industry. Driven by the global financial downturn they are looking to
reduce IT costs. They believe there is a cost saving opportunity within IT but this is not quantified in terms of potential
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savings nor is there an agreed target architecture. Final decisions on the solutions are not yet fully agreed. They have
completed the first pass architecture and now are looking at the best opportunities and solutions to meet their financial
goals. 

You are the Chief Architect from a consulting organization brought into review the work to date by MightyGears and to
make recommendations to the CIO and the board on the opportunities and solutions present. 

Refer to the scenario above 

Which of the following answers best describes how TOGAF recommends examining the opportunities and solutions
before presenting to the board? 

Choose one of the following answers 

A. I would examine the architecture work today ensuring it is complete and accurate and addressing any gaps. I would
look at functional and integration requirements. I would then ensure all dependencies are understood and documented. I
would then create the necessary artefacts including major work packages and transition architectures and the project
charters for the recommended projects for presentation to the board. 

B. I would assess the architecture work today, create, and priorities projects to transition Widget Inc from the current
architecture to target architecture. This will include a business value for each project, the resources required and the
intended timing. I would then validate the prioritizations with the board particularly looking at cost benefits and risks.
Lastly, I would generate the Architecture Implementation Roadmap and document lessons learned. 

C. I would assess the requirements of the organization particularly those requirements describing the functions required
and information flows within the architecture. I would then look to produce artifacts that describe the recommended
projects, the risk, issues and dependencies. This would also include transition architects to move us from current
architecture to the recommended target architectures. I would present my recommendations to the board for agreement.
Once this is done, I would update the architectures reflecting any changes resulting from the board discussion. 

D. I would look at the corporate culture and attitude to change, understand the constraints such as cost and the required
time horizons. I would then look at the architecture work to ensure it is complete and seek to address any gaps. I would
review the functional requirements and ensure there are complete interoperability requirements. I would then validate
any dependencies and risks. Then formulate an implementation and migration strategy identifies major work packages
and the transition architecture required. Finally, once agreement is reached with the board I will create project charters
and re-factor any changes needed from the board discussion into the architecture. 

Correct Answer: A 

 

QUESTION 3

Scenario 

Please read this scenario prior to answering the question 

Your role is that of Lead Enterprise Architect working at the headquarters of a fast food chain. The chain manages over
7500 restaurants across 33 countries. Each restaurant in the chain is an independently owned and operated franchise. 

Many of the restaurants still use the first generation IT systems deployed over 10 years ago. The Chief Operating
Officer (COO) of the chain has stated his concerns about the inefficiencies of the current systems and identified the
need to change. He has defined a new strategic vision that will enhance the business including providing its franchisees
new support services to help them address the increasing competition from coffee shops. This is part of the long-term
commitment to enhance the brand image and increase revenue for the chain. He has also stated that he expects
improved financial results by the end of the current fiscal year. 
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The changes will help provide the chain with improved products, including healthier alternatives in the menu, and more
efficient operations. The addition of a corporate-wide data warehouse will provide analytics that will enable the
marketing group to improve its ability to target advertising and new products to specific regions. 

The chain has a mature Enterprise Architecture practice based in its headquarters and uses the TOGAF standard as the
method and guiding framework. The CIO is the sponsor of the activity. In planning the change, the Chief Architect
engaged the services of a well-known consulting firm that specializes in business strategy. An initial study has been
conducted to identify the strategic changes needed to implement the COO\\'s vision. This recently completed with
approval of a strategic architecture encompassing the entire chain, including detailed requirements and
recommendations. 

Based on the recommendations from the initial study, the decision has been taken for the chain to adopt a packaged
suite of integrated applications that is tailored to the needs of the franchise. 

Refer to the scenario 

You have been asked by the Chief Architect to propose the best approach for architecture development to realize the
COO\\'s vision. 

Based on the TOGAF standard, which of the following is the best answer? 

A. You propose that the focus be placed on architecture definition, with emphasis on understanding the strategic change
parameters. The requirements, drivers, issues, and constraint for this engagement can then be identified. You would
ensure that the target architecture addresses non-functional requirements so as to ensure the target architecture is
robust and secure. 

B. You propose that the target architecture is defined first by going through the architecture definition phases (B-D). This
is because the initial study identified the need to change. This will ensure that the change can be defined in a structured
manner and address the requirements needed to realize the 

vision. 

C. You propose that the baseline Technology Architecture is defined first in order to assess the current infrastructure
capacity and capability. Then the focus should be on transition planning and architecture deployment. This will identify
requirements to ensure that the projects are sequenced in an optimal fashion so as to realize the vision. 

D. You propose that the target architecture is defined first, followed by transition planning. This is because the vision is
well understood and the strategic architecture agreed. The target first approach will ensure that the current problems
and inefficiencies of the baseline architecture are not carried forward, and that the proposed solution addresses the
requirements identified in the initial study. 

Correct Answer: D 

 

QUESTION 4

Scenario: Armstrong Defense Industries Please read this scenario prior to answering the question 

Armstrong Defense Industries is the prime contractor for the Dreadnought Unmanned Aircraft System program. 

Over the course of this contract, the company has grown rapidly by acquisition and has inherited numerous different
procurement processes and related IT systems. Armstrong Defense is moving aggressively to consolidate and reduce
redundant procurement processes and systems. The CEO has announced that the company will seek to leverage
higher volume discounts and lower related IT support costs by instituting a preferred supplier program. 

To achieve this goal, Armstrong Defense needs to define Baseline and Target Architectures. These architectures must
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address key stakeholders concerns such as: 

1.

 What groups of people should be involved in procurement-related business processes? 

2.

 What current applications do those groups use? 

3.

 Which procurement-related business processes are supported by zero, one, or many existing applications? 

4.

 What are the overall lifetimes of the Request for Proposal and Purchase Order business objects? 

5.

 What non-procurement applications will need to be integrated with any new procurement applications? 

6.

 What data will need to be shared? 

At present, there are no particularly useful architectural assets related to this initiative. All assets need to be acquired
and customized or created from scratch. The company prefers to implement existing package applications from systems
vendors with little customization. 

The architecture development project has just completed its Architecture Context iteration cycle and is about to begin
the Architecture Definition iteration cycle. 

Armstrong Defense is using TOGAF for its internal Enterprise Architecture activities. It uses an iterative approach for
executing Architecture Development Method (ADM) projects. 

Refer to the Armstrong Defense Industries Scenario 

You are serving as the Lead Architect. 

You have been asked to identify the most appropriate architecture viewpoints for this situation. 

Based on TOGAF 9, which of the following is the best answer? 

A. In the early iterations of the Architecture Definition: 

•

 Describe the Baseline Business Architecture with a Baseline Business Process catalog 

•

 Describe the Baseline Application Architecture with a Technology Portfolio catalog 

•

 Describe the Baseline Data Architecture with a Data diagram 
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In the later iterations of the Architecture Definition: 

•

 Describe the Target Business Architecture with an Actor/Process/Data catalog 

•

 Describe the Target Application Architecture with a System/Technology matrix 

•

 Describe the Target Data Architecture with a Data Dissemination diagram 

B. In the early iterations of the Architecture Definition: 

•

 Describe the Target Business Architecture with a Business Service/Function catalog and a Business 

Interaction matrix 

•

 Describe the key business objects with Product Lifecycle diagrams 

•

 Describe the Target Application Architecture with Application Communication diagrams and an Application Interaction
matrix 

•

 Describe the Target Data Architecture with a Data Entity/Business Function matrix and a System/ Data matrix 

In the later iterations of the Architecture Definition: 

•

 Describe the Baseline Business Architecture with a Business Service/Function catalog and a 

Business Interaction matrix 

•

 Describe the Baseline Application Architecture with a System/Organization matrix and a System/ Function matrix 

•

 Describe the Baseline Data Architecture with a Data Entity/Data Component catalog 

C. In the early iterations of the Architecture Definition: 

•

 Describe the Target Business Architecture with a Business Service/Function catalog and an 
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Organization/Actor catalog 

•

 Describe the key business objects with Data Lifecycle diagrams 

•

 Describe the Target Application Architecture with Application Communication diagrams and an Application Interaction
matrix 

•

 Describe the Target Data Architecture with a System/Data matrix 

In the later iterations of the Architecture Definition: 

•

 Describe the Baseline Business Architecture with a Business Service/Function catalog and a 

Business Interaction matrix 

•

 Describe the Baseline Application Architecture with an Application and User Location diagram and a System/Function
matrix 

•

 Describe the Baseline Data Architecture with a Data Entity/Data Component catalog 

D. In the early iterations of the Architecture Definition: 

•

 Describe the Baseline Business Architecture with an Organization/Actor catalog 

•

 Describe the Baseline Application Architecture with a System/Function matrix 

•

 Describe the Baseline Data Architecture using a Data Entity/Data Component catalog 

In the later iterations of the Architecture Definition: 

•

 Describe the Target Business Architecture with en Organization/Actor catalog 

•

 Describe the Target Application Architecture using Application Communication diagrams end an Application Interaction
matrix 
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•

 Describe the Target Data Architecture with a System/Data matrix 

Correct Answer: B 

 

QUESTION 5

Scenario Please read this scenario prior to answering the question Your role is that of Lead Enterprise Architect within
the staff headquarters of a large hotel chain. The chain manages over 500 hotels across North America and Canada,
with another 230 hotels internationally in the United Kingdom, Europe, Australia and New Zealand. Unlike other hotel
chains, which are often a mix of company-owned and franchised units, each hotel in the chain is an independently
owned and operated franchise. Many of the hotels use the same internal IT systems that they used before they joined
the franchise. Until recently, the only requirement that has been placed on each hotel is that they use a standard
financial reporting system to report their financial results to the headquarters on a weekly basis. 

The CEO of the chain has stated his concerns about the inefficiencies of the current approach and identified the need to
change. He has defined a new strategic vision that will enhance the business by providing its franchisees new support
services including worldwide reservations, global, national and regional marketing as well as consolidated financials,
logistics, and yield management. This strategy is part of the long-term commitment to enhance the brand image and
drive superior revenue for the chain. He has also stated that he expects improved financial results by the end of the
current fiscal year. 

These changes will provide the chain with improved utilization of its capacity and more efficient operations. The addition
of a corporate-wide data warehouse will provide analytics that will enable the marketing group to improve its ability to
target advertising into key national and regional markets to improve yields. 

The chain has a mature enterprise architecture practice based in its headquarters and uses TOGAF 9 as the method
and guiding framework. The CIO is the sponsor of the activity. In planning this change, the Chief Architect engaged the
services of a well-known consulting firm that specializes in business strategy. An initial study has been conducted to
identify the strategic changes needed to implement the CEO\\'s vision. This recently completed with approval of a
strategic architecture encompassing the entire chain, including detailed requirements and recommendations. 

Based on the recommendations from the initial study, the chain has taken the decision to adopt a packaged suite of
integrated applications that is tailored to the needs of the hospitality industry. 

Refer to the scenario You have been asked by the Chief Architect to propose the best approach for architecture
development to realize the CEO\\'s vision. 

Based on TOGAF, which of the following is the best answer? 

A. You propose that this engagement define the baseline Technology Architecture first in order to assess the current
infrastructure capacity and capability. Then the focus should be on transition planning and architecture deployment. This
will identify requirements to ensure that the projects are sequenced in an optimal fashion so as to realize the vision. 

B. You propose that the target architecture is defined first, followed by transition planning. This is because the vision is
well understood and the strategic architecture agreed. The target first approach will ensure that the current problems
and inefficiencies of the baseline architecture are not carried forward, and that the proposed solution addresses the
requirements identified in the initial study. 

C. You propose that the team focus on architecture definition, with a specific emphasis on understanding the strategic
change parameters of the business strategy. Once understood, the team will be in the best position to identify the
requirements, drivers, issues, and constraints for this engagement. You would ensure that the target architecture
addresses non-functional requirements so as to ensure the target architecture is robust and secure. 
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D. You propose that the team focus on defining the target architecture by going through the architecture definition
phases (B-D). This is because the initial study identified the need to change. This will ensure that the change can be
defined in a structured manner and address the requirements needed to realize the vision. 

Correct Answer: D 

Latest OG0-092 Dumps OG0-092 Study Guide OG0-092 Braindumps

Powered by TCPDF (www.tcpdf.org)

Latest OG0-092 Dumps | OG0-092 Study Guide | OG0-092 Braindumps                                9 / 9

https://www.pass4itsure.com/og0-092.html
https://www.pass4itsure.com/og0-092.html
https://www.pass4itsure.com/og0-092.html
http://www.tcpdf.org
https://www.pass4itsure.com/og0-092.html
https://www.pass4itsure.com/og0-092.html
https://www.pass4itsure.com/og0-092.html

